B.Ed 1* Year (2015-2016)

Subject : Mathematics (Set-II) Full Marks : 80
Paper : CEC Time : 03 hours
Driections :-
i. Candidates are requested to give your answer to own words and sentences.
il. All questions contain equal marks. Answer any five out of ten questions.
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1.
(a) Define Rational and Ir-rational number with examples. Write 10 (ten) rational
numbers between % and %
gRAT AT U9 URHY AT B IRl Afed a9 & | %@%a% Elic]
10 () aRFa <ver ford |
(b) Covert each of the following into a decimal
frrforRad # 9 UR® &1 eHd H g |
" 7 . 5 iy 9 . .5
@) % (i1) ZH (ii1) 7 @iv) 3
(c) Prove that V2 is not a rational Number.
g X & 3 v aRia e =8t 2
[4+8+4]
2.
(a) If P(x) =2x? —5x + 4, Then find the value of
@) P(-2) PG G)PG) () PCD)
Ife P(x) =2x2—5x +4 s oI
1) P(-2) (i) P() (iii) P(5) @iv) P(-1)
BT A AT BN |
(b) Factorize (TGS Il :
(i) 18x%y — 24xyz  (ii) 9x? — 16y?
(iii) x% — 4x — 21 (iv) 8a® — 27b3
(c) Divide (4x3 +4x2 —x—1)by (2x+ 1)
(4x% +4x? —x — 1) BT (2x + 1) ¥ 91T < |
[8+8]
3.

(a) Find the value of x and y
(xaﬁ? y DI AT =Id )
@) x—3y=7
3x —3y =15
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(i1) 5x+3y—-35=0
2x+4y—-28=0

Solve for x and y
(xSﬁ’\’ y ® forv g1 Eﬁif)
2 3

E+\/—y=2

S 3 4
x—1 y-2
[8+8]

Find the discriminant and check its nature of the quadratic equation
2x% — 9x + 7 = 0 and after then find these roots.

fgama TR 2x2 —9x+7 =0 @& fa99® A X AR IFD! UG DB
S &N | $9@ 918 S9D Hall I AT N |

The sum of the squares of two consecutive natural numbers is 421. Find the
number.

Q1 SNAR WTdfdd 61 & a1 &1 AN 421 2 | 6 90 & |

[4+4+8]

Prove that (Rig &)

140 [1-Sind_
T—si0 ' [1+sme -

1-Sin6
1+Sin6

Prove that (RTg &)
(Sec® — Tan®)? =

The angle of elevation of the top of a tower from a Point A on the ground is 60°.
on walking 20 meters away from its base, to a Point B, the angle of elevation
changes to 30°. Find the height of the tower.

[6+6+4]

Define Heron’s formula to calculate the area of a triangle. Find the area of a
triangle two sides of which are 11 cm. and 8 cm. and the perimeter is 32 cm.

Rl ST @1 &isrhel eprer & oy ERIF 3 @l aRwIfya & | feedl ot
@ I OGBS HA: 11 FAL UF 8 WAL Bl IR SHDT yRAT 32 WAL
g a1 S &1 & S aN |

A wall of length 10 m. was to be built across an open ground. The height of the
wall is 4 m. and thickness of the wall is 24 cm. If this wall is to be built up with
bricks whose dimensions are 24 cm. X 12 cm.X 8 cm. How many bricks would
be required?
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T QGel Ha™ H 10 Al IS B $C Pl QAR T 1| 39 SR DI SHaTg
4 1. Ud qeTs 24 9AL B AR 39 AR BT I A IR AT B e 9
24 AHAL X 12 A X 8 AH. B, A 39 M ¥ fhad Sl B razgehar
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Find whole surface area and volume of the right circular cone with radius 6 cm.
and height 7 cm.

el Tl g &1 ot g &thel U9 STaad §19 9X Siafd 3R 6 9.
A, Td TS 7 WAL B
[8+8]

(i) A Vendor sells lemons at 5 for rupee gaining 40%. How many did he buys
for a rupee?

U fIhdl T SUd H 5 @ TR Aig TGP 40% BT oM FHACI & | 94
I8 U g ¥ fbd a% ¥ Hig w¥iar o ?

(ii) If the selling price of 10 articles is the same as the cost price of 12 articles.
Find the gain percent or loss percent.

10 IRl BT fIspaed 12 IRl & HIYeT & aRIER © | URTerd ar srerar
gfcrera g1+ ST Y |

Find the difference between Simple and Compound Interest on Rs. 6250 at 8%
P.a for 2 Years.

6250 U BT R W 8% d¥d &SI Bl & W 2 T BT AR TS Td
Thgfg ATl BT AR T N |

[8+8]

find the values of the following.

@ f=falad &1 99 o)
(i) (AU B) (i) BNC) (iii) (ANB) U C (iv) (AUC)NB

(i) Using binomial theorem, expand of
(fegue v & el 9 faRdR &)

1
(x +;)5

(i1) Find the middle term in the expansion of (3x — %)15
(3x—§)15 & AR % 72y ug od @ |
[5+5+6]

In what ratio does the point (-4, 6) divide the line segment joining the points
A(-6, 10) and B(3, -8) ?

g (-4, 6), a3l A(-6, 10) 3R B(3, -8) I Sl dlel VWIS & b4
argura # o wear 2 |




10.

(b)

(c)

Find the 11" term from the last term (towards the first term) of the A.P. : 10, 7,

AP.:10,7,4 ..o , -62 BT 3ifoH Ug A (JoH U B 3IR) 11df Ug 1

BT |
A bag contains a red ball, a blue ball and a yellow ball, all the balls being of the
same size. Kritika takes a ball from the bag without looking into it. What is the

probability that she takes out.
(1) yellow ball (ii) red ball ~ (iii) blue ball

TH I § UHh ol g, Th el g 3R Th Uiell g & IO 91 7 Udh &1
IMPR BT & | Hfad! 1 Il & ofR 3, 3T ¥ UH g Farerndl | 39!
T Widdar g fh a8 i —
() dreft FfY (i) @t BT (iii) <elt 8Ff

[16]

Calculate the Mean, Median and Mode by assumed mean method.

dfcud Ay fAfd gRT Ay, AifeaewT vd qgeid S o |

1.

C.I| 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 55-60 | 60-65

2.

f 4 5 11 6 5 8 9 6 4 2

-- The End --




